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REGULATIONS OF THE GOVERNMENT OF DUBROVNIK CONCERNING
MARRIAGE PRACTICES (FROM THE 13th TO THE MID-14th CENTURIES)

The Summary

The basis of this article is two legal ordinances issued in Dubrovnik in the 13th cen-
tury.  The first, “Ordo de dotibus et nuptiis,” concerns dowery and marriage.  It dates from
1235 and represents the first ban on luxury (in connection with marriage) in Dubrovnik, the
third such regulation in Western Europe.  The author focuses on those parts dedicated to a
bride’s dowery in money, her wedding apparel, and jewelry.  The second regulation, found
in a Dubrovnik statute of 1272, also concerns the question of a bride’s dowery, wedding
apparel, and wedding ring.  

For a better understanding of these regulations, the author drew upon published doc-
uments in the Archive of Dubrovnik, dating from the time of their preservation, i.e., the last
two decades of the 13th century.  In investigating the preservation, alteration, and eventual
disappearance of the above-mentioned articles of clothing and jewelry, the author used most-
ly unpublished documents, dating from the first half of the 14th century.  The author consid-
ers all processes in the context of political events and social differentiation according to class
and economic power, the origin of the population, and economic activity.

The author’s analysis points to several characteristics of the culture of Dubrovnik at
the time:  

the nature and extent of the dowery followed the economic development of society;
the origins of the clothes and jewelry give testimony to their complex content – waning
Greek-Byzantine influence, emerging Slavic influence, and a dominant Italian cultural her-
itage. A very similar culture could be found in neighboring Kotor as evidenced by compara-
ble regulations from the Statute of Kotor concerning a bride’s dowery, clothing, and ring. At
the same time, both of these closely related cultures had much in common with those of
Budva, Bar, and Ulcinj, which together formed a unique Southern Adriatic cultural zone at
this time.
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